< 00, > (M)

<opyp, > ()

<d @> (rad)
o
=
a1

o
[N

o
N

.........................

.........................

o
o
TTTTTTTTT

+
T

+

=
o
iN

1

2 3
TPlpoT (PCA t%obeamlinélf)

< dcotl>)

. -
...............
...............

L
pabpd
so

o 3

-

b & il
-+
B (S 1
+ -

2 3
TPlpoT (PCA t%obeamlinélf)

—=— DQM_CKF_QCDHighPt_base
—— DQM_CKF_QCDHighPt_retrain

100 - T
- : -ll!
80F i A
OE 1441t 17 S R
40F 1 Ape e
E 4] ] :
20 L [ 5 SERRRE EEEE-EEEEEEEEEEE
oF RS R S (H SR
EooHLIFE [+ :
-20F T+ Ap e
—40F---{{-4{f f : RPN
_60:_ ,“ *. ,. .....................
—80:— B " """""""""""
100: 1 nn |! . il 1 i | L
C : 1l r
H > 4
i 5l O 2 S o I
- M *4
:- 4

1

o
N

1

<od,> (um)

¥ -
- .
L]
+:
LT -
i+
+ :
wile-f1]---
JHE -
- :
P E
+ .
-
+ . ..
AANAI 1
L L
H
<+
+71:1

1

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


